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Difference of Squares

Feb 17 Unit Tesy

Recall: Find the squares of the numbers 1 through 12.
{You should be getting good at this by now!)

12 — '42 —
22 — 52 —
32 — 62 —

Difference of Squares

Investigate:
Expand a lify
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What patterns do you notice?

72 = 102 =
8% = 112 =
9% = 12% =

b} (3¢ — 10)(3c + 10)

O

d) (a + b)(a ~ b)
= —ab+tab-b
= & —b"

[o* = b7 = (atb)(a—b)| = Differenss
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To factor difference of squares:

Example 1 Factor.

2} 1% — 25 0=2 b) y? — 36 a=y

=1 -5 b75 =y =6 b=y

= (2+5) (1—5) = (Y+6)(y=6)
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What value of k would make the foliowing polynomialsiperfect square trinomials?

a) x%- 4x +® Q:‘L

\ ;-- 2 b = =4 b="
=2t 2nb= 4L
b)b;c +kx+%5 k= bz =
BT () 221 53
"7 =4y 200425 — k=20
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o= 1o =(loi)z+(2a.;fo7c-=q)+ q* By = b
=% ko= igox & k=180 7 o iea
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a) 5x2—-8x—4 QC=~20, hL=—§

Review: identify the type of polynomial. Facior, if

Create two trinomials that are not perfect square trinomials and therefore are not factorablel

hossible. T
b) x?+2x+1 a=1
=Zapr) P b=
=L+ 1)"

c)kﬁx""y + 4x%y = 6xy®
= 244+ 24 - BY%D = This i ot W
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= ('51‘)1-—[2«51»2_}2"' b=2
= (54 -2)°
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Example 2 Factor, if possible
- 2 _ 2
a}xc— 100 a=X b) 98a“ — 450b

{ — 7(1 . IDZ b:lo 2 (4(;’ OLE ___ Q_Zb_bz’) (1:= -m
= (A+le) (X—10) 2[Ge) — (456) ) b=1sb

c) 25x2 + 49 . 432 _27y2 | = 2 [ Cla+15b) (‘IC'L“*'EE)]
2 - 2 -
= C5’:€)’/\-‘<ﬁ =3(A-qy?*) o7%| = 2 (e +15b) (70— {5b)
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2 =2 (42l raf) RT3
= 254"+ 49 3 (A= (3y) ): BARET

Example 3 Create a difference of squares question. See if your classmates can factor it.

LA0T — 169 = G&Ck)a'ﬂ (12 b)z = (8a+13b) (a—13b)

*Students often get confused between perfect squares and difference of squares

Create a perfect square trinomial and create a difference of squares using the terms 3x and 4.

Perfect Square Trinomial; Difference of Squares: A= 31 , }3*"4\/
(34 +4Y)(31+4y) 3L+4y) (3oL —4y)
2 2 . : :
= 9+ 1230y +12y + 16y = Q= 1by?

P . - 2
= g%+ 24y + by
What is the difference between perfect squares trinomials and difference of squares?
¥ Perfect Sgnt T has 2 ferms  wherens
Diffecences of Squne # 2 2

You have now learned all the basic types of factoring! (Yay!)
The hard part is distinguishing between the different types on a test. ®

How to decide which type of factoring you need: ©

Always Common Factor First!

. iy D .
Trinomial = General Polynomial

N N

Diff. of Squares Not Factorable Grouping Not Factorable

Binomial = WO torms

e Perfect Squares Hard Trinomial Not Factorable
' {Simple Trinomial Shortcut)




Review Self Quiz: Identify the type of factoring. Factor, if possible.
a) x*—3x-40 0 C=|¢-4o =-4p|b) 25x* — 36y*
_ 7 . 11 —_ z -2 '
= (5X+by)(51-bYy)
ac=|w-2=-2 d) 144x% + 96x — 16
= 2(-2 -1 -y | =AGLT AR ges
o . : A 3 =1b (94 4 — =

_ NO tWp Wntegers Wil Sptig
e) 6x?—7x—3 QA= bx-3=—12 f} 9x? + 64 Y

= 3 (1 -3) +21-3)

g = (31 +1)(2173) _ |
H \/\/ Cha!legge dA=5m + 2

a) 4m?—(6m — 7)2 A= 2m b) (5m + 2)% — (3m — 8)2 bh=3uw—g
= (2m) — (6n=1)  b=6m =T (Gm+2+3m—8) (5m+2 —(3m-8))
= (2m+ bm—1) (2m —(bm-D)(=_(Bm =5 (2m+io) e
= (w1 (—4mtT) = — (5D (4w 1)) = 2L 200 EL)

<) 9(2a + 5b)? — 4(7a — 3b)? d) a? — b+ 8be T 1
=[?>C1C\+ 55)]1- [?-(‘m—abyf a=bo+ish 7 = (6&4-51134—}4)(6(1-%2!5—14)
= [4a +isb)*— [L1aa—6b]* e MM&!:/
= (ba+15b+14—bb) Céaﬂsb*ﬁl‘?'“f-

e) 25 —m? — 12mn — 36n? f) x* —a®—y* - 2ay

¢) 2x? —~2x—24
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g) x% + 9y? — 25z? — 6xy hy x3 +x2 —x—1

i) a®" — p2n i) 4x* + 35x% + 49




